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Part A: Grammar 
Directions: Questions 1-15 are incomplete sentences. Beneath each sentence you will see four words or phrases 
marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct 
choice on your answer sheet. 
1- … to take this adventure course will certainly learn a lot of useful skills. 

1) Brave students enough 2) Students brave enough  
3) Enough brave students 4) Students are brave enough  

2- Levy Rozman set about … his bedroom as soon as he returned home from school. 
1) to tidy  2) tidy 
3) tidying  4) tidied 

3- My parents have always made me … about myself, even when I was twelve. 
1) to feel well   2) to feel good  
3) feel well   4) feel good 

4- Yesterday, if we had left the house earlier, we … in heavy traffic, and we could have made it to the 
concert on time. 
1) wouldn’t have gotten caught 2) wouldn’t catch     
3) wouldn’t have caught  4) wouldn’t get caught 

5- … for the unwavering dedication, sacrifice, and support of countless healthcare workers and 
scientists, the battle against the global pandemic would have been far more devastating. 
1) If it weren’t   2) As long as had it not been       
3) If it wouldn’t be  4) Had it not been  

6- Mary doesn’t want to work right away because she thinks that if she … a job, she probably wouldn’t 
be able to see her friends very often. 
1) has to get  2) had got  
3) were to get  4) could have got 

7- He is … musician that I have ever seen, effortlessly captivating audiences with his virtuoso 
performances and unmatched musicality. 
1) the most talented    2) as talented as a        
3) a more talented        4) the most talented of  

8- As part of my preparation for the upcoming debate competition, I’ll get my teacher … mock debates 
with me, providing valuable feedback, and helping me refine my public speaking skills. 
1) do              2) done              
3) to do               4) doing 

9- Children entering school soon discover that evaluation of skills like reading and arithmetic are based 
on impersonal, standardized tests, … .  
1) after having been moved beyond the personal web of family 
2) moving beyond the personal web of family  
3) they moved beyond the personal web of family  
4) being beyond the personal web of family they moved  

10- … a customer wish to cancel their booking, they can notify us within seven days after finalizing their 
reservation. 
1) Would   2) If  
3) Could                                        4) Should     

11- Although officials insist that measles ... in the UK, why do we still see cases and outbreaks? 
1) be eliminated  2) were eliminated        
3) has been eliminated  4) has eliminated 

12- Jurists are still debating on … be banned from evicting those who cannot afford to pay rent. 
1) whether landlords should 2) if should landlords      
3) that landlords should   4) landlords should    

13- … twice in the last month, John was looking forward to any opportunity to sell his car and buy a new one. 
1) With his car repairing  2) Having his car repaired   
3) Had his car been repaired 4) Having had his car repaired   

14- In the past, buildings ... against cliffs, both to make construction easier and to defend against enemies. 
1) being usually put up  2) were usually put up 
3) usually put up  4) that were usually put up  

15- It’s time ... copies of all our correspondence with the government in case we need to review them 
later. 
1) to keep us  2) we kept 
3) we keep  4) we are kept 

  سؤالدفترچةدردرسهرشروعازقبلگذاريهدفدقيقه 105  زبان تخصصي
  بنويسيد: را خود 10 از چند گذاري هدف ،منحصراً زبان درس هاي سؤال به گويي پاسخ شروع از قبل لطفاً

  بدهيد؟ صحيح پاسخ توانيد مي سؤال چند به سؤال 10 هر از
  است؟ بوده 10 از چند قبل آزمون در شما عملكرد
 چيست؟ امروز آزمون براي شما گذاري هدف

  امروز آزمونبراي10ازچندگذاريهدف قبلآزمون10ازچند
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Part B: Vocabulary  
Directions: Questions 16-35 are incomplete sentences. Beneath each sentence you will see four words or phrases marked 
(1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct choice on 
your answer sheet. 

16- Some people might think that the artist’s mind is a … ground for creativity, constantly generating 
new ideas and concepts. 
1) fertile  2) trivial  
3) sporadic   4) relevant 

17- She was known for her … dedication to her work, but as she started getting older, the company 
decided to let her go. 
1) prudent  2) convenient 
3) notorious   4) consistent  

18- After learning about the landlord’s plans to … a hefty rent increase, many of the building’s tenants 
cancelled their leases. 
1) harness  2) advance 
3) impose  4) elevate 

19- Not having seen their families for months, the soldiers had been deprived of emotional support, 
leading to a significant decline in their overall … . 
1) revenue  2) morale 
3) estimate  4) purpose  

20- Crocodiles spend most of their time in the water, but they are also very … of basking in the hot sun 
on the banks of rivers or in marshes. 
1) interested  2) concerned 
3) pleasing  4) fond  

21-  When the dentist noticed the infected tissue around his patient’s gums, he knew he would have to … 
the tooth. 
1) amputate  2) terminate                        
3) exclude  4) extract    

22- He decided to … his career to researching cures for rare diseases, driven by a deep sense of purpose. 
1) determine   2) pursue 
3) devote  4) dictate 

23- Despite the rainy day, her … disposition brightened the mood of everyone around her. 
1) symbolic  2) frequent 
3) cheerful  4) dismal 

24- In my opinion, many sicknesses in these immigrant camps are the result of inadequate … . 
1) sanitation  2) substructure    
3) renovation  4) supplement 

25- New experiments were conducted using a specially designed apparatus under... temperature and 
relative humidity. 
1) global  2) original 
3) constant  4) arrogant 

26- The jury found the defendant guilty despite the … evidence, which sparked a debate about the 
criminal justice system.  
1) respective   2) inconclusive 
3) refutable  4) unanimous 

27- While developing the new medicine, the scientists faced many time-… challenges, but they did their 
best and eventually succeeded. 
1) consuming  2) pressing 
3) falling  4) grueling 

28- Athletes without enough money are unable to compete at the highest levels because they lack … to 
the technology that would make them competitive. 
1) entrance         2) participation 
3) production     4) access 

29- Comic books can offer a fantastical escape from the … realities of modern life, transporting readers 
to other worlds where imagination reigns supreme. 
1) sole  2) harsh 
3) sheer  4) insufficient  

30- Despite the challenges and setbacks she faced, the entrepreneur … determined and eventually 
managed to expand her business. 
1) changed  2) remained 
3) preserved  4) relieved 
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31- The new law requires all vehicles to … regular safety inspections in order to ensure that they meet 
the necessary standards. 
1) perform  2) carry 
3) undergo  4) hold 

32- Ever since she was a child, she had a … interest in ancient civilizations and their cultures, so she 
decided to pursue a career as an archaeologist and explore the mysteries of the past. 
1) fine  2) sharp 
3) flat  4) keen   

33- The history teacher emphasized the importance of understanding historical context to interpret 
events .... 
1) accurately   2) reluctantly 
3) recklessly  4) politely 

34- The parents enrolled their child in a preschool to provide him with early ... and socialization 
opportunities. 
1) experiment  2) curiosity 
3) education  4) laboratory 

35- The museum displayed a collection of artifacts that provided a/an ... into the daily lives of people 
from different historical periods. 
1) assignment  2) glimpse 
3) equation  4) lecture 

Part C: Sentence Structure  
Directions: Choose the sentence with the best word order for each of the following series. Then mark the correct 
choice on your answer sheet.  

36-   
1) If the salary offered were less than you would hope for, you could have negotiated an early pay review 
instead. 
2) Unless the salary offering were less than you would have hoped for, you could have negotiated an 
early pay review instead. 
3) If the salary offered were less than you had hoped for, you could negotiate an early pay review instead. 
4)  Unless the salary offering had been less than you would have hoped for, you could negotiate an early 
pay review instead. 

37-  
1) In one study, two-thirds of the subjects who experienced a stressful situation had nearly six times the 
risk of developing depression within that month. 
2) In one study, two-third of the subjects which experienced a stressful situation having had nearly six 
times the risk from developing depressions within that month. 
3) In one study, two-thirds of the subjects which experienced a stressful situation had nearly six time the 
risk of developing depression within that month. 
4) In one study, two-third of the subjects who experienced a stressful situation, so that they had nearly six 
times the risk from developing depressions within that month. 

38-  
1) Not long after they learn to walk and talk, do children set the table with accuracy impressively. 
2) Not long after learning to walk and talk, children can set the table with impressive accuracy. 
3) Not long after learning to walk and talk, can children set the table with impressive accuracy. 
4) Not long after learning to walking and talking, children set the table with accuracy impressively 

39-   
1) Although it represents only about 2% of the body’s weight, the human brain, which is weighed just 
around 3 pounds, is the most energy-consuming organ. 
2) Despite it represents only about 2% of the body’s weight, the human brain, which is weighed just 
around 3 pounds, is the organ with the most energy-consuming. 
3) Although representing only about 2% of the body’s weight, the human brain, weighing just around 3 
pounds, is the organ with the most energy-consuming. 
4) Despite representing only about 2% of the body’s weight, the human brain, which weighs just around 
3 pounds, is the most energy-consuming organ. 

40-   
1) Launched a successful startup against all odd, the entrepreneur was armed with determination and a 
clear plan. 
2) The entrepreneur was armed with determination and a clear plan that had him launched a startup 
against all odd successfully. 
3) Armed with determination and a clear plan, the entrepreneur launched a successful startup against all odds. 
4) With determination and a clear plan, the entrepreneur armed themselves to launch a successful startup 
against all odds. 
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 Part D: Language Function 
Directions: Read the following conversations between two people and answer the questions about the conversations 
by choosing one of the choices (1), (2), (3), or (4). Then mark the correct choice on your answer sheet. 

A: Congratulations on your promotion! You must be very happy. 
B: Thank you. Yes, I am very happy. …(41)… . 
A: How did you manage to get it? Did you do something special? 
B: Well, not really. I just worked hard and did my best. 
A: Come on, don’t be modest. You must have done something to impress your boss. 
B: Well, maybe there was one thing. I …(42)… with a new idea for a project that saved the 
company a lot of money. 
A: Wow, that’s amazing. You really …(43)… with that one. 

41- 1) It’s never been long enough   2) It’s been coming for quite some time   
3) It’s been a long time coming   4) It’s much longer than I expected 

42- 1) came up      2) hopped in 
3) put through     4) wound back    

43- 1) called it a day     2) kept your chin up  
3) hit the nail on the head    4) put it on ice 
A: There’s something I need to tell you. But please don’t get mad at me. 
B: OK, what is it? 
A: Well, you know how we were supposed to go on a trip together next week? 
B: Yeah, of course. I’ve been …(44)… for months. 
A: Well, I’m afraid I have some bad news. I lost our tickets.  
B: You what? How did you do that?  
A: I don’t know. I must have misplaced them or thrown them away by mistake.  
B: I knew you couldn’t take care of it. You really …(45)… this time. 

44- 1) looking forward to it    2) looking to it forward 
3) seeing forward to it    4) forwardly looking to it  

45- 1) bit off more than you could chew  2) put all your eggs in one basket   
3) killed two birds with one stone   4) turned over a new leaf  

Part E: Cloze Test  
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the 
correct choice on your answer sheet. 

Parrots are found across the tropics and in all southern hemisphere continents except Antarctica, but 
nowhere ...(46)... such a richness of diversity and form as in Australia. One-sixth of the world’s 345 
parrot species are found there, and Australia has long been widely ...(47)... the number and variety of 
its parrots. 
   In the 16th century, a German cartographer made a world map ...(48)... a place, somewhere near 
present-day Australia, that he named Terra Psittacorum – the Land of Parrots – and the first 
European settlers in Australia often ...(49)... to the country as Parrot Land. In 1865, the celebrated 
British naturalist and wildlife artist John Gould said: “No group of birds gives Australia ...(50)... 
tropical and benign an air as the numerous species of this great family by which it is tenanted.” 
   Due to their great diversity, and since most species inhabit Africa, Australia and South America, 
...(51)... parrots originated millions of years ago on the ancient southern continent of Gondwana, 
before it broke up into the separate southern hemisphere continents we know today. Much of 
Gondwana ...(52)... vast rainforests intersected by huge slow-flowing rivers and expansive lakes, but 
by eight million years ago, great changes were underway. The center of the continent of Australia 
had begun to dry out, and the rainforests that once covered it gradually contracted to the continental 
...(53)..., where, to a limited extent, they still exist today. The creatures that remained in those 
shrinking rainforests had to quickly ...(54)... to the drier conditions or face extinction. ...(55)... to these 
desperate circumstances, the parrot family, typically found in jungles in other parts of the world, has 
populated some of Australia’s harshest environments. 

46- 1) the display of      2) do they display  
3) display     4) they display  

47- 1) sought after  2) renowned for  3) prone to  4) accustomed to 
48- 1) included   2) and including   3) that included  4) where included 
49- 1) replied   2) contributed   3) attributed   4) referred 
50- 1) so   2) such    3) very   4) the  
51- 1) it seems almost certain that   2) and almost they seem certain those  

3) which seems certain that almost    4) they almost seem that certain the 
52- 1) devoted   2) penetrated   3) founded   4) comprised  
53- 1) exports  2) margins   3) volumes  4) benefits 
54- 1) surrender  2) compare  3) dedicate  4) adapt  
55- 1) Reacting   2) They reacted   3) If they reacted   4) Reacted  
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Part F: Reading Comprehension  
Directions: In this part of the test, you will read three passages. Each passage is followed by some questions. Answer the 
questions about the passages by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on your 
answer sheet. 

PASSAGE 1: 
Bees and ants are two fascinating insects that share several similarities but also possess distinct 
characteristics that set them apart. While both play essential roles in their respective colonies, their 
lifestyles, social structures, and contributions to the environment differ significantly. 
   Bees are social insects that primarily live in colonies known as beehives. These organized 
communities consist of a queen bee, worker bees, and drones. Bees are well-known for their 
remarkable ability to produce honey, a valuable natural sweetener. They achieve this by collecting 
nectar from flowers, which they transform into honey within the hive. Bees are essential pollinators, 
aiding in the reproduction of flowering plants by transferring pollen from one flower to another. This 
process is crucial for agricultural crops and biodiversity. 
   Ants are also social insects, but their colonies function differently from beehives. Ant colonies consist 
of a queen ant, worker ants, and sometimes soldier ants. Unlike bees, ants do not produce honey. Their 
diet varies greatly, including everything from scavenged food to farming fungus within their colonies. 
Ants are known for their well-structured underground nests, and they play a vital role in ecosystem 
maintenance by breaking down organic matter and regulating the population of other insects. 
    Despite their differences, bees and ants have common features. They are both eusocial, meaning 
they live in highly organized colonies with specialized roles for each member. Additionally, they 
exhibit remarkable cooperation and division of labor, with workers serving the needs of the colony. 
Furthermore, both insects are crucial for maintaining ecological balance, as they are responsible for 
pollination and waste disposal, respectively. 

56- How is the passage organized? 
1) Chronologically, starting with the life cycles of bees and ants and progressing to their roles in ecosystems 
2) By contrasting the differences between bees and ants first and then discussing their similarities 
3) Through a comparison of the ecological significance of bees followed by an overview of their social structures 
4) Topically, with the first part focusing on bees and the second part focusing on ants 

57- Based on the passage, why are bees considered significant for both nature and humans? 
1) Bees are important for nature as they help maintain ecosystem balance, but they are not essential for humans. 
2) Bees are significant for nature because they contribute to pollination and help maintain biodiversity, 
while they are important for humans due to their role in honey production. 
3) Bees are not particularly significant for nature or humans, as their roles in the environment are limited. 
4) Bees are crucial for humans as honey producers, but they have little impact on the natural world. 

58- The word “they” in paragraph 3 refers to ... . 
1) nests 2) fungus 3) ants 4) insects 

59- Which of the following terms is defined in the passage? 
1) Colony 2) Natural sweeteners 3) Scavenged food 4) Eusocial 

60- In which magazine is an article like this passage most likely to be found? 
1) An astronomy and astrophysics journal 
2) An architectural and interior design magazine 
3) A geopolitical analysis and international affairs publication 
4) An environmental conservation and entomology review 
PASSAGE 2: 
The economic depression in the late-nineteenth-century United States contributed significantly to a 
growing movement in literature toward realism and naturalism. After the 1870s, a number of 
important authors began to reject the romanticism that had prevailed immediately following the 
Civil War of 1861-1865 and turned instead to realism. Determined to portray life as it was, with 
fidelity to real life and accurate representation without idealization, they studied local dialects, wrote 
stories which focused on life in specific regions of the country, and emphasized the “true” 
relationships between people. In doing so, they reflected broader trends in the society, such as 
industrialization, evolutionary theory which emphasized the effect of the environment on humans, 
and the influence of science. 
     Realists such as Joel Chandler Harris and Ellen Glasgow depicted life in the South; Hamlin 
Garland described life on the Great Plains; and Sarah One Jewett wrote about everyday life in rural 
New England. Another realist, Bret Harte, achieved fame with stories that portrayed local life in the 
California mining camps. Samuel Clemens, who adopted the pen name Mark Twain, became the 
country’s most outstanding realist author, observing life around him with a humorous and skeptical 
eye. In his stories and novels, Twain drew on his own experiences and used dialect and common 
speech instead of literary language, touching off a major change in American prose style. 
     Other writers became impatient even with realism. Pushing evolutionary theory to its limits, they 
wrote of a world in which a cruel and merciless environment determined human fate. These writers, 
called naturalists, often focused on economic hardship, people struggling with poverty, and other 
aspects of urban and industrial life. Naturalists brought to their writing a passion for direct and 
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honest experience. Theodore Dreiser, the foremost naturalist writer, in novels such as Sister Carrie, 
grimly portrayed a dark world in which human beings were tossed about by forces beyond their 
understanding or control. Dreiser thought that writers should tell the truth about human affairs, not 
fabricate romance, and Sister Carrie, he said, was “not intended as a piece of literary craftsmanship, 
but was a picture of conditions.” 

61- Which aspect of late-nineteenth-century American literature does the passage mainly discuss? 
1) The influence of science on literature 
2) The importance of dialects for realist writers 
3) The emergence of realism and naturalism 
4) The effects of industrialization on romanticism 

62- According to the passage, a highly significant factor in the development of realist and naturalist 
literature was ... . 
1) the Civil War 
2) an economic depression  
3) a recognition that romanticism was unpopular 
4) an increased interest in the study of common speech  

63- Realist writers took an interest in all of the following EXCEPT ... . 
1) human relationships   2) characteristics of different regions 
3) the idealization of life  4) social theories 

64- Why does the author mention mining camps in paragraph 2? 
1) As an example of a topic taken up by realist writers  
2) To illustrate how Bret Harte differed from other authors 
3) To contrast the themes of realist and naturalist writers 
4) As an example of how setting can influence literary style 

65- Which of the following statements about Theodore Dreiser is supported by the passage? 
1) He mainly wrote about historical subjects such as the Civil War. 
2) His novels often contained elements of humor. 
3) He believed writers should emphasize the positive aspects of life. 
4) He viewed himself more as a social commentator than as a literary artist. 
PASSAGE 3: 
Birds that feed in flocks commonly retire together into roosts. The reasons for roosting communally 
are not always obvious, but there are some likely benefits. In winter especially, it is important for 
birds to keep warm at night and conserve precious food reserves. One way to do this is to find a 
sheltered roost. Solitary roosters shelter in dense vegetation or enter a cavity—horned larks dig holes 
in the ground and ptarmigan burrow into snow banks—but the effect of sheltering is magnified 
by several birds huddling together in the roosts, as wrens, swifts, brown creepers, bluebirds, and anis 
do. Body contact reduces the surface area exposed to the cold air, so the birds keep each other warm. 
Two kinglets huddling together were found to reduce their heat losses by a quarter and three 
together saved a third of their heat. 
    The second possible benefit of communal roosts is that they act as “information centers.” During 
the day, parties of birds will have spread out to forage over a very large area. When they return in 
the evening some will have fed well, but others may have found little to eat. Some investigators have 
observed that when the birds set out again next morning, those birds that did not feed well on the 
previous day appear to follow those that did. The behavior of common and lesser kestrels may 
illustrate different feeding behaviors of similar birds with different roosting habits. The 
common kestrel hunts vertebrate animals in a small, familiar hunting ground, whereas the very 
similar lesser kestrel feeds on insects over a large area. The common kestrel roosts and hunts alone, 
but the lesser kestrel roosts and hunts in flocks, possibly so one bird can learn from others where to 
find insect swarms. 

66- What does the passage mainly discuss? 
1) How birds find and store food 2) How birds maintain body heat in the winter 
3) Why birds need to establish territory 4) Why some species of birds nest together  

67- Ptarmigan keep warm in the winter by …  . 
1) huddling together on the ground with other birds 2) building nests in trees 
3) burrowing into dense patches of vegetation 4) digging tunnels into the snow 

68- The author mentions kinglets in paragraph 1 as an example of birds that … . 
1) protect themselves by nesting in holes 2) nest with other species of birds 
3) nest together for warmth 4) usually feed and nest in pairs 

69- The word “forage” in paragraph 2 is closest in meaning to … . 
1) fly 2) assemble 3) feed  4) rest  

70- Which of the following statements about lesser and common kestrels is true? 
1) The lesser kestrel and the common kestrel have similar diets. 
2) The lesser kestrel feeds sociably but the common kestrel does not. 
3) The common kestrel nests in larger flocks than does the lesser kestrel. 
4) The common kestrel nests in trees; the lesser kestrel nests on the ground. 
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 3 ةصفح  منحصراً زباناختصاصي   1402 دي 1آزمون  -»3«پروژة 

  
  

  )محمدمهدي دغلاوي(  »2«گزينة  - 1
  نكتة مهم درسي:

توان فعل اصلي  ميخالي ن باشد، پس در جاي مي ”will learn“فعل اصلي جمله 
بـا معنـاي قيـدي     ”enough“دقـت كنيـد كـه    »). 4«ديگري داشت (رد گزينة 

بعد  ”enough“كارگيري به »). 3«تواند قبل از صفت به كار رود (رد گزينة  مين
ساختار صحيح جملـه  »). 1«كاملاً نادرست است (رد گزينة  ”students“از اسم 

بـوده اسـت كـه     ”students who are brave enough“در اصل به صـورت  
  قابليت حذف شدن دارد. ”who are“تركيب گرامري 

 (گرامر)
----------------------------------------------  

  )محمدمهدي دغلاوي(  »3«گزينة  - 2
  نكتة مهم درسي:

شـروع بـه   «معنـاي   بـه  ”set about doing something“به تركيب گرامري 
  دقت كنيد.» انجام كاري كردن

 (گرامر)
----------------------------------------------  

  )محمدمهدي دغلاوي(  »4«گزينة  - 3
 نكتة مهم درسي:

 ”make somebody/something do something“بـه سـاختار سـببي    
 ”well“اگـر از قيـد    ”feel“بعـد از فعـل   »). 2و  1«ي هـا  دقت كنيد (رد گزينه

است كه مشخصاً با معناي جمله » احساس سلامت بدني«استفاده كنيم به معناي 
  »).3«منطبق نيست (رد گزينة 

 (گرامر)
----------------------------------------------  

 )رحيمي محسن(  »1«گزينة   - 4

  نكتة مهم درسي:
، به شـرطي نـوع سـوم نيـاز     ”Yesterday“با توجه به مفهوم جمله و قيد زمان 

(مـا)  ”we“همچنين، با توجه به اينكه رابطة اسم »). 4و  2«هاي  داريم (رد گزينه
افتادن) مفعولي اسـت، بـه سـاختار مجهـول نيـاز       (گرفتن، گير ”catch“و فعل 

  »).3«داريم (رد گزينة 
 امر)(گر

----------------------------------------------  

  )محسن رحيمي(  »4«گزينة  - 5
 نكتة مهم درسي:

با توجه به مفهوم و قسمت جواب شـرط، بـه شـرطي نـوع سـوم نيـاز داريـم (رد        
جملـه دچـار وارونگـي     ”as long as“بعـد از   ،همچنـين »). 3و  1«هـاي   گزينه
لات شـرطي،  قاعـدة وارونگـي در جم ـ   بـق در واقـع،  ط  »).2«(رد گزينة  شود نمي
را حذف كرده و جـاي فعـل كمكـي و فاعـل را عـوض       توانيم حرف ربط شرط مي

  .كنيم و به عبارتي جمله را وارونه كنيم
 (گرامر)

----------------------------------------------  

  )محسن رحيمي(  »3«گزينة  - 6
  نكتة مهم درسي:

فعل سـاده +  «ت و در جواب شرط نيز ساختار مفهوم جمله در مورد زمان حال اس
would «  داريم، پس در قسمت شرط بايد از زمان گذشتة ساده استفاده كنيم تـا

  ساخته باشيم.  2شرطي نوع 
 (گرامر)

----------------------------------------------  

  )محسن رحيمي(  »1«گزينة  - 7
  نكتة مهم درسي:

و  2«ي هـا  به صفت برترين نياز داريم (رد گزينـه م جمله، وبا توجه به معني و مفه
 »).4«اضافي است (رد گزينة » 4«در گزينة  ”of“از طرفي حرف اضافة  ).»3

 (گرامر)
----------------------------------------------  

  )محسن رحيمي(  »3«گزينة  - 8
  نكتة مهم درسي:

داريم. در وجـه سـببي    با توجه به معني و مفهوم جمله، به وجه سببي معلوم نياز
بـه كـار    to، فعل دوم به شكل مصدر بـا  ”get“معلوم، در صورت استفاده از فعل 

  ها). رود (رد ساير گزينه مي
 (گرامر)

----------------------------------------------  

  )محسن رحيمي(  »2«گزينة  - 9
  نكتة مهم درسي:

تـوانيم از   رد، بنـابراين نمـي  با توجه به اينكه هيچ حرف ربطي در جمله وجود نـدا 
همچنين، با توجه به اينكه رابطة اسم  »).3«ة جملة كامل استفاده كنيم (رد گزين

“Children” ها) و فعل  (بچه“move”      (حركت كـردن، جابجـا شـدن) فـاعلي
» 4«چنـين گزينـة    هـم  »).1«است، به ساختار مجهول نيازي نـداريم (رد گزينـة   

  »).4«كند (رد گزينة  معناي درستي را منتقل نمي
 (گرامر)

----------------------------------------------  

  )متين خليليان(  »4«گزينة  -10
  نكتة مهم درسي:

با توجه به ساختار شرطي نوع يك و مفهوم جمله، به ادات شـرط نيـاز داريـم (رد    
سوم شخص به كـار   ”s“بدون  ”wish“از آنجايي كه فعل »). 3و  1« هاي هگزين
  »).2«صحيح نيست (رد گزينة  ”if“ته است، پس استفاده از رف

 (گرامر)
----------------------------------------------  

  )محمد طاهري(  »3«گزينة  -11
  نكتة مهم درسي:

مفعـولي اسـت، بنـابراين جملـه      ”eliminate“بـراي فعـل    ”measles“نقش 
در اين جملـه اصـلاً    ”insist“دقت كنيد كه فعل  »).4«مجهول است (رد گزينة 

»). 1«ندارد، پس نبايد فعل به صورت ساده به كار رود (رد گزينـة    ميمعناي التزا
در انتها يك اسم غير قابل شمارش اسـت و   ”s“علي رغم داشتن  measlesاسم 

  »).2«نياز به فعل مفرد دارد (رد گزينة 
 (گرامر)

----------------------------------------------  
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 4 ةصفح  منحصراً زباناختصاصي   1402 دي 1آزمون  -»3«پروژة 

  )متين خليليان(  »1«زينة گ -12
  نكتة مهم درسي:

به »). 2« ةدر اين جمله سوالي مطرح نشده و دليلي براي وارونگي نيست (رد گزين
  »).4و  3« هاي مفهوم پرسشي داشته باشد (رد گزينهحرف ربطي نياز داريم كه 

 (گرامر)
----------------------------------------------  

  )ليانمتين خلي(  »4«گزينة  -13
  نكتة مهم درسي:

كامل  ةاينكه فعل جملة پايه گذشته است، به فعل گذشتو  زمانيتوالي با توجه به 
با توجه به سـاختار و مفهـوم، جملـه شـرطي     ») 2و  1«هاي  نياز داريم (رد گزينه

  »).3«نيست (رد گزينة 
 (گرامر)

----------------------------------------------  

 )سعلي عباسيعبا(  »2«گزينة  -14
  نكتة مهم درسي:

باشـد (رد   مـي ، جمله فاقد فعل خواهد بود، بنابراين نادرست »1«با انتخاب گزينة 
نيـازي  » كـه «فهمـيم بـه مفهـوم     مـي ، از طريق معنا »4«در گزينة  »).  1«ينة زگ

ــابراين   ــت، بن ــافي   ”that“نيس ــد و اض ــيزائ ــة   م ــد (رد گزين ــش »). 4«باش نق
“buildings”  براي“put up”     مفعولي است، در نتيجه بايـد از شـكل مجهـول

  »).3«فعل استفاده شود نه معلوم (رد گزينة 
 (گرامر)

----------------------------------------------  

 )اله استيري رحمت(  »2«گزينة  -15
  نكتة مهم درسي:

فاعلي است، پس در جاي خالي نياز به سـاختار   ”keep“براي فعل  ”we“نقش 
نادرست  ”keep“كارگيري دو مفعول بعد از فعل  هب»). 4«ريم (رد گزينة معلوم دا

نياز بـه زمـان گذشـتة سـاده      ”it’s time“بعد از ساختار »). 1«است (رد گزينة 
  »). 3«داريم (رد گزينة 

 (گرامر)
----------------------------------------------  

 )پارسا رضانژاد(  »1«گزينة  -16
زمـين   ،از مردم ممكن است فكر كنند كه ذهن يك هنرمند بعضي«ترجمة جمله: 

ها و مفـاهيم جديـد توليـد     طور مداوم ايده است كه به خيزي براي خلاقيت حاصل
  »كند. مي
  اهميت ) بي2  خيز ) حاصل1
  ) مرتبط  4  پراكنده) 3

 )واژگان(
----------------------------------------------  

 )پارسا رضانژاد(  »4«گزينة  -17
، ولـي  بوداش براي شغلش معروف  ي پيوستهها فداكاري خاطر بهاو «ترجمة جمله: 

  »شركت تصميم به بركناري او گرفت. ،وقتي سنش شروع به بالا رفتن كرد
  ) راحت2  محتاط) 1
  ) پيوسته4  بدنام) 3

 )واژگان(
----------------------------------------------  

  )متين خليليان(  »3«گزينة  -18
هـاي   هپس از مطلع شدن از برنام ،جران ساختمانأاز مست ياريبس«ة جمله: ترجم

خـود را لغـو   قـرداد اجـارة    ،ة سـنگين اجـار  شيزافا كي ليتحم يخانه برا صاحب
  .»كردند

  ) پيش بردن2  ) مهار كردن1
  ) بالا بردن4  ) تحميل كردن3

 )واژگان(
----------------------------------------------  

  )متين خليليان(  »2«گزينة  -19
عـاطفي   تي ـحما ادة خود را نديـده و از وها بود كه سربازان خان ماه«ترجمة جمله: 

  .»شان شد كلي  ةيدر روح يتوجه موجب ركود قابل ]اين[ كه ،بودندشده محروم 
  ) روحيه2  ) درآمد1
  ) هدف4  تخمين) 3

 )واژگان(
----------------------------------------------  

  )متين خليليان(  »4« گزينة -20
 بآفتابه اما  كنند، يم يوقتشان را در آب سپر شتريب ها ليكروكود«ترجمة جمله: 

  »مندند. علاقهبسيار ها هم  مرداب در يارودها  هاي هر كرانب در آفتاب داغگرفتن 
  ) نگران2  مند  ) علاقه1
  مند  ) علاقه4  بخش ) لذت3

  نكتة مهم درسي:
  دقت كنيد.» مند بودن به علاقه«به معناي   ”fond of“يتركيب واژگانبه 

 )واژگان(
----------------------------------------------  

  )متين خليليان(  »4«گزينة  -21
 هـاي  كرده در اطراف لثه وقتي كه دندانپزشك متوجه بافت عفونت«ترجمة جمله: 

  »  شد، فهميد كه بايد دندان را بكشد. شبيمار
  دادن، خاتمه يافتن پايان) 2  ) قطع كردن1
  ) خارج كردن 4  ) حذف كردن3

 )واژگان(
----------------------------------------------  

  )محمدحسين مرتضوي(  »3«گزينة  -22
گرفـت   ميتصـم رفـت،   پـيش مـي   حس هدفمندي عميقيبا او كه «ترجمة جمله: 

  »نادر كند. يها يماريدر مورد درمان ب قيخود را وقف تحق ةحرف
  رفتنچيزي كردن، به دنبال  بيتعق) 2  كردن نييكردن، تع نيمع) 1
  كردن كتهيد) 4  دادن، وقف كردن اختصاص) 3

 )واژگان(
----------------------------------------------  

  )محمدحسين مرتضوي(  »3«گزينة  -23
 ةهم ـحـال  شـاد او   ةي ـروح ،ي بـود بـاران  يروزكـه   ايـن با وجـود  «ترجمة جمله: 

  »كرد.ب خورا  انشياطراف
  مكرر) 2  نينماد) 1
  آور ، ملالتانگيز غم) 4  شاد) 3

 )واژگان(
----------------------------------------------  
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  )اميرمهدي عالي(  »1«گزينة  -24
 ،ي مهـاجران هـا  در ايـن اردوگـاه   ها بسياري از بيماريبه نظر من، «ترجمة جمله: 

  .»ناكافي استبهداشت  ةنتيج
  ) زيرساخت2  ) بهداشت1
  ) ضميمه4  ي) نوساز3

 )واژگان(
----------------------------------------------  

  )زارع شكيبا اصل(  »  3«گزينة  -25
تحـت   ،ي جديد با استفاده از دستگاهي با طراحي ويـژه ها زمايشآ«ترجمة جمله: 

  »دماي ثابت و رطوبت نسبي انجام شد.
  ) اصلي2  ) جهاني1
  ) متكبر، مغرور4  ) ثابت3

  م درسي:نكتة مه
دقـت  » دماي ثابـت «به معناي  ”constant temperature“به تركيب واژگاني 

  كنيد.
 )واژگان(
----------------------------------------------  

  )پور بيتا قربان(  »2«گزينة  -26
متهم را مقصر شناسـايي   ،با وجود شواهد غيرقطعي منصفههيئت «ترجمة جمله: 

  »شد. نظام عدالت كيفريايجاد بحث نسبت به باعث  ]اين موضوع[كردند كه 
  ) غيرقطعي2  ) نسبي1
  القول ، متفقيرأ ) هم4  ) رد كردني3

  نكتة مهم درسي:
 »شواهد غير قطعي«معناي  به ”inconclusive evidence“به تركيب واژگاني 

  دقت كنيد.
 )واژگان(
----------------------------------------------  

  )پور قربان بيتا(  »1«گزينة  -27
 گيـر  وقـت  يهـا  دانشمندان با چالش د،يجد يهنگام ساختن دارو«ة جمله: رجمت
  .»موفق شدند تيها تمام تلاش خود را كردند و در نها اما آن ،مواجه شدند ياديز
  ) فشارآور2  كننده مصرف) 1
  كننده ) خسته4  كننده ) سقوط3

  نكتة مهم درسي:
دقـت  » گيـر  بر، وقـت  زمان«ه معناي ب ”time-consuming“به تركيب واژگاني 

  كنيد.  
 )واژگان(
----------------------------------------------  

  )پور بيتا قربان(  »4«گزينة  -28
 سطوح نيرقابت در بالاتر تيقابل ،ندارند يكه پول كاف يورزشكاران: «جمله ةترجم

  »ابت كند ندارند.ها را وارد رق كه بتواند آنفناوري به  يچرا كه دسترس ؛را ندارند
  ) مشاركت2  ) ورود  1
  ) دسترسي4  توليد، ساخت) 3

 )واژگان(
----------------------------------------------  

  )پور بيتا قربان(  »2«گزينة  -29
 يتلـخ زنـدگ   اتي ـاز واقع يالي ـخ يتوانند فرار يم مصور يها كتاب: «جمله ةترجم

هـا   منتقل كنند كه در آن يگريد ياهايو خوانندگان را به دنكنند  عرضهمدرن را 
  »زند. يحرف اول را م ليتخ
  ) تلخ، سخت2  ) تنها  1
  ) ناكافي4  ) خالص3

 )واژگان(
----------------------------------------------  

  )سيدمهدي خبازي(  »  2«گزينة  -30
 آن كـارآفرين مواجـه بـود،    ها با آن كه موانعيو  ها رغم چالش علي«جمله:  ةترجم

 »وكار خود را گسترش دهد. توانست كسب سرانجامباقي ماند و مصمم 
  باقي ماندن) 2  تغيير كردن  ) 1
  تسكين يافتن) 4    حفظ كردن) 3

 )واژگان(
----------------------------------------------  

  )سيدمهدي خبازي(  »  3«گزينة  -31
نظـور  كـه بـه م   دارد مـي خودروهـا را موظـف    ميتماقانون جديد « جمله: ةترجم

ي ايمنـي مـنظم را انجـام    ها استانداردهاي لازم، بازرسي برخورداري ازاطمينان از 
 »دهند.

  حمل كردن) 2    اجرا كردن) 1
  نگه داشتن) 4    ، متحمل شدنانجام دادن) 3

  نكتة مهم درسي:
انجـام دادن  «بـه معنـاي    ”undergo an inspection“ تركيـب واژگـاني  بـه  

  .دقت كنيد» بازرسي
 )واژگان(

----------------------------------------------  
 )سيدمهدي خبازي(  »  4«گزينة  -32

هــاي باســتاني و  شــديدي بــه تمــدن ةعلاقــ ،كــودكيدوران از «جملــه: ة ترجمــ
شـناس   عنـوان باسـتان   تصميم گرفت بـه  به خاطر همينها داشت،  هاي آن فرهنگ

 .»فعاليت كند و به كشف رازهاي گذشته بپردازد
  تيز )2    خوب) 1
  مشتاق، علاقمند ) 4    صاف) 3

  نكتة مهم درسي:
شـديدي   ةعلاق ـ«به معنـاي   ”to have a keen interest“ تركيب واژگانيبه 

  دقت كنيد.  » داشتن
 )واژگان(
----------------------------------------------  

 )روش عقيل محمدي(  »1«گزينة  -33
 ،وقايع دقيق تفسير براي اريخيت بافت درك اهميت بر تاريخ معلم«ترجمة جمله: 

  .»كرد كيدأت
   ميلي بي روى از) 2  و درست طور دقيقبه) 1
  دبانهؤم) 4  پروا بي طوره) ب3

 )واژگان(
----------------------------------------------  

 )روش عقيل محمدي(  »3«گزينة  -34
 تـا  كردنـد  نـام  ثبـت  دبسـتاني  پـيش  در را خـود  فرزنـد  والـدين «ترجمة جملـه:  

  .»كنند فراهم را او شدن اجتماعي و اوليه آموزش يها زمينه
  كنجكاوى) 2  آزمايش) 1
  آزمايشگاه) 4  آموزش) 3

 )واژگان(
----------------------------------------------  

 )روش عقيل محمدي(  »2«گزينة  -35
 به اجمالي نگاهي كه گذاشت نمايش به را آثار از اي مجموعه موزه«ترجمة جمله: 

  .»داد ه ميارائ تاريخي مختلف هاي دوره مردم ةروزمر زندگي
  اجمالي نگاه) 2  ، وظيفهتكليف) 1
  سخنراني) 4  معادله) 3

  نكتة مهم درسي:
» ي به چيـزي نگاه اجمال«معناي  به ”a  glimpse into sth“ يتركيب واژگانبه 

 دقت كنيد.
 )واژگان(

----------------------------------------------  
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 )عباسعلي عباسي(  »3«گزينة  -36
  نكتة مهم درسي:

باشد. علاوه بر آن بايـد   مياز لحاظ معنايي درست ن ها در گزينه ”unless“وجود 
مفعولي است، بنابراين  ”salary“براي فاعل خود  ”offer“دقت داشت كه نقش 

بـه  با توجه »). 4 و 2«ي ها بايد به شكل مجهول استفاده شود نه معلوم (رد گزينه
شـرطي نـوع دوم    ةشويم كه با يك جمل ـ مياول متوجه  ةدر وهل ”were“وجود 

باشـد  ة ساده مواجه هستيم كه جملة جواب شرط آن بايد به زمان آينده در گذشت
  »).1«نه آينده در گذشتة كامل (رد گزينة 

 )ترتيب اجزاي جمله(
----------------------------------------------  

 )اسعلي عباسيعب(  »1«گزينة  -37
  نكتة مهم درسي:

در ايـن جملـه    ”subjects“شـويم كـه    مـي از طريق معنا و مفهوم جمله متوجه 
بـه جـاي    ”who“اشاره به اسم انسان دارد، لذا پس از آن بايد از ضمير موصولي 

“which” همچنين دقـت داشـته باشـيد    »3و  2«ي ها استفاده كرد (رد گزينه .(
توانـد بـه شـكل مفـرد      مـي ضروري اسـت و ن  ”two-third“جمع براي  ”s“كه 

باشـد،   مييك اسم غير قابل شمارش  ”depression“استفاده شود. علاوه بر آن 
  »).4 و 2«ي ها باشد (رد گزينه ميبنابراين شكل جمع آن نادرست 

 )ترتيب اجزاي جمله(
----------------------------------------------  

 )عباسعلي عباسي(  »2«گزينة  -38
  نكتة مهم درسي:

و  1«ي هـا  دهـد (رد گزينـه   ميوارونگي رخ ن ”not long“توجه كنيد كه بعد از 
بايد از شكل سادة فعل اسـتفاده شـود، بنـابراين گزينـة      "learn to"بعد از »). 3
يـك  ”accuracy“ نيز نادرست است. دقت داشته باشيد كه از آنجايي كـه   »4«

بعـد از آن، از صـفت    "impressively"دباشد،  بهتر بـود بـه جـاي قي ـ    مياسم 
"impressive"  كرد. ميقبل از آن استفاده  

 )ترتيب اجزاي جمله(
----------------------------------------------  

 )عباسعلي عباسي(  »4«گزينة  -39
  نكتة مهم درسي:

باشـد،   مـي فـاعلي   ”weigh“بـراي فعـل    ”the human brain“ عبارتنقش 
در »).  2و  1«ي هـا  فعـل اسـتفاده كـرد (رد گزينـه     شكل معلـوم  بنابراين بايد از

به يك  ”the most energy-consuming“، بعد از صفت »3و  2«ي ها گزينه
 2«ي ها اسم نياز داريم كه در جمله وجود ندارد، بنابراين نادرست است (رد گزينه

  »).3و 
 )ترتيب اجزاي جمله(

----------------------------------------------  

 )عباسعلي عباسي(  »3«گزينة  -40
  نكتة مهم درسي:

با فاعـل جملـة اصـلي يكسـان نيسـت،       ”launched“فعل ، فاعل »1«در گزينة 
با يك وجه سببي معلـوم روبـرو    »2«نادرست است. در گزينة  »1«بنابراين گزينة 

در آن بايد از شكل سادة فعل استفاده شـود نـه    ”have“هستيم كه پس از فعل 
“p.p.”  باشـد و مشـخص    مـي ربط  از نظر معنايي بي »4«گزينة »). 2«(رد گزينة

در ضـمن بـه    »).4«چيست (رد گزينة  ”themselves“نيست كه مرجع ضمير 
» هـا  بينـي  برخلاف همة پـيش «معناي  به ”against all odds“تركيب واژگاني 

 »).2و  1«هاي  دقت كنيد (رد گزينه
 )ترتيب اجزاي جمله(

 ----------------------------------------------  

  )محمدحسين مرتضوي(  »3«گزينة  -41
  است. طول نكشيدهاندازة كافي   ) هرگز به1
  آيد. ) براي مدتي است كه مي2
  ) خيلي وقت است كه منتظرشم.3
  تر از انتظارم است. طولاني) خيلي 4

 )مكالمه(
----------------------------------------------  

  )محمدحسين مرتضوي(  »1«ينة گز -42
  )with(با  ارائه دادن افتن،يكردن،  شنهاديپ) 1
  بپر بالا ،سوار شو) 2
  تلفني برقرار كردنواداشتن، ارتباط ) 3
  به عقب برگرداندن، دور زدن و برگشتن) 4

 )مكالمه(
----------------------------------------------  

  )محمدحسين مرتضوي(  »3«گزينة  -43
  كار) ةي(و به فردا موكول كردن بق دنيكش يت از كاردس) 1
  باش يو پرانرژ يقو ،را از دست نده دتيام) 2
را ادا كـردن،   يزي ـسخن) به موقع و به جا انجام دادن، درست حق چ اي(عمل ) 3
  را به نشان زدن ريت

  به بعد موكول كردن، داشتن نگه قيدر تعل) 4
 )مكالمه(

----------------------------------------------  
  )محمدحسين مرتضوي(  »1«گزينة  -44

  نكتة مهم درسي:
مشتاقانه «معناي   به ”looking forward to something“به تركيب واژگاني 

  دقت كنيد.» منتظر وقوع اتفاقي بودن
 )مكالمه(
----------------------------------------------  

  )محمدحسين مرتضوي(  »1«گزينة  -45
  تر از دهن برداشتن بزرگ ةلقم) 1
  كردن يگذار هيسرما زيچ كي يرا رو هيسرما اي يتمام وقت، انرژ) 2
  دو نشان را زدن ريت كيبا ) 3
  را گشودن، از سر گرفتن ينياز نو آغاز كردن، فصل نو) 4

 )مكالمه(
----------------------------------------------  

  )اله استيري رحمت(  »2«گزينة   -46
  هم درسي:نكتة م
بايد با معناي فعلي در جاي خـالي قـرار بگيـرد، در غيـر ايـن       ”display“كلمة 

يـك   ”nowhere“كلمة »). 1«شود (رد گزينة  ميصورت جمله فاقد فعل اصلي 
شود، پس فعل در زمان حال ساده براي چنين فاعلي نيـاز   ميفاعل مفرد محسوب 

يك كلمـة منفـي    ”nowhere“كلمة »). 3«سوم شخص دارد (رد گزينة  ”s“به 
كارگيري آن در ابتداي جمله، بايد جمله را وارونه كنيم و فعـل   هساز و در صورت ب

  »).4«كمكي را قبل از فاعل به كار ببريم (رد گزينة 
 )كلوزتست(

----------------------------------------------  
  )اله استيري رحمت(  »2«گزينة  -47

  ر) معروف به خاط2  ) پرطرفدار1
  ) عادت كرده به4  ه) مستعد ب3

 )كلوزتست(
----------------------------------------------  
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  )اله استيري رحمت(  »3«گزينة  -48
  نكتة مهم درسي:

توان يك فعل ديگر را بدون حرف ربط اضـافه كـرد (رد گزينـة     ميدر جاي خالي ن

شند (رد گزينـة  پايه با ، دو طرف آن بايد هم”and“در صورت به كارگيري »). 1«

فـاعلي اسـت، پـس در     ”include“براي فعـل   ”a world map“نقش »). 2«

  »).4«توان از ضمير موصولي بيانگر مكان استفاده كرد (رد گزينة  ميجاي خالي ن

 )كلوزتست(

----------------------------------------------  

  )اله استيري رحمت(  »4«گزينة  -49
  ) كمك كردن2  ) پاسخ دادن1

  ) اشاره كردن4  ) نسبت دادن3

 )كلوزتست(

----------------------------------------------  

  )اله استيري رحمت(  »1«گزينة  -50
  نكتة مهم درسي:

براي بيان مقايسه بـين دو  » so + صفت+  a/an + اسم+  as«به تركيب گرامري 

  چيز دقت كنيد.

 )كلوزتست(

----------------------------------------------  

  )اله استيري رحمت(  »1«گزينة  -51
  نكتة مهم درسي:

عبارت قبل از جاي خالي يك جملة ناقص است، پس بلافاصله بعد از ويرگول نياز 

خالي بايـد بـا يـك فاعـل      به ساختار يك جملة كامل داريم. به عبارت ديگر، جاي

وانـد بـه   ت مـي تنهـا   ”they“مرجع ضـمير  »).  3و  2«ي ها شروع شود (رد گزينه

“parrots”  چنـين، بـه    كنـد. هـم   ميبرگردد كه جمله را به لحاظ معنايي ناقص

كنـد كـه    مـي اين مفهـوم را القـا    ”parrots“براي  ”the“كارگيري حرف معرفة 

از جملـه قابـل     ميي خاصي است، حال آنكه چنين مفهـو ها بحث در مورد طوطي

در  ”certain“ل از صـفت  قب ”that“كارگيري  هاستنباط نيست. از سوي ديگر، ب

  »).4«اين ساختار نادرست است (رد گزينة 

 )كلوزتست(

----------------------------------------------  

  )اله استيري رحمت(  »4«گزينة  -52
  ) نفود كردن2  ) وقف كردن، اختصاص دادن1

  ) شامل چيزي بودن، در برداشتن4  ) تأسيس كردن3

 )كلوزتست(

----------------------------------------------  

  )اله استيري رحمت(  »2«گزينة  -53
  ) حاشيه2  ) صادرات1

  ) مزيت، منفعت4  ) حجم3
 )كلوزتست(

----------------------------------------------  

  )اله استيري رحمت(  »4«گزينة  -54
  ) مقايسه كردن2  ) تسليم شدن1

  وفق دادن، سازگار كردن) 4  ) اختصاص دادن3
 )ستكلوزت(

----------------------------------------------  

  )اله استيري رحمت(  »1«گزينة  -55
  نكتة مهم درسي:

شود. از آنجا كـه ويرگـول    ميدر ادامة جمله و بعد از ويرگول، جمله با فاعل شروع 
خالي از گزينة  توان در جاي ميتواند دو جملة كامل را به هم وصل كند، پس ن مين

. جمله اصلاً بيانگر مفهوم شرط نيست كه يك جملة كامل است رداستفاده ك» 2«
فـاعلي   ”react“بـراي فعـل    ”the parrot family“نقـش  »). 3«(رد گزينـة  

دار فعل استفاده كنـيم (رد گزينـة    ”ing“است، پس در جاي خالي بايد از شكل 
»4 .(«  

 )كلوزتست(

----------------------------------------------  

  )محمدحسين مرتضوي(  »2«نة گزي -56
 »شده است؟ يچگونه سازماندهمتن «ترجمة جمله: 

و سـپس  شـده اسـت    سـه يهـا بـا هـم مقا    زنبورها و مورچه نيب هاي ابتدا تفاوت«
  ».گرفته استها مورد بحث قرار  آن يها شباهت

 )مطلب  درك(

----------------------------------------------  

  )مرتضويمحمدحسين (  »2«گزينة  -57
 يو هـم بـرا   عـت يطب يمتن، چرا زنبورهـا هـم بـرا    نيبر اساس ا«ترجمة جمله: 

  »؟آيند به حساب ميمهم  ها انسان

حفظ به و مشاركت  يافشان گرده در رايز ،مهم هستند اريبس عتيطب يزنبورها برا«
 دي ـنقششـان در تول  لي ـبـه دل و [از طرفي] همچنين كنند  يكمك م يستيتنوع ز

  »مهم هستند. ها انانس يعسل برا
 )مطلب  درك(

----------------------------------------------  

  )محمدحسين مرتضوي(  »3«گزينة  -58
  »به ... اشاره دارد.» 3«در پاراگراف  ”they“كلمة «ترجمة جمله: 

  »ها مورچه«
 )مطلب  درك(

----------------------------------------------  
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  )مرتضويمحمدحسين (  »4«گزينة  -59

  »شده است؟ فيتعرمتن در  رياز عبارات ز كيكدام «ترجمة جمله: 

»Eusocial )ي)اجتماع«  

 )مطلب  درك(

----------------------------------------------  

  )محمدحسين مرتضوي(  »4«گزينة  -60
اي يافـت   بـه احتمـال زيـاد در چـه مجلـه      متن اي مانند اين مقاله«ترجمة جمله: 

  »شود؟ مي

  »شناسي حفظ محيط زيست و حشره ةلمج«

 )مطلب  درك(

----------------------------------------------  

 )روش عقيل محمدي(  »3«گزينة  -61

 آمريكـا  نـوزدهم  قـرن  اواخـر  ادبيـات  از جنبه كدام به متن عمدتاً«ترجمة جمله: 

  »پردازد؟ مي

  »گرايي طبيعت و گرايي واقع پيدايش«

 )مطلب  درك(

----------------------------------------------  

  )روش عقيل محمدي(  »2«گزينة  -62

 و گرايانـه  واقـع  ادبيـات  رشد در  ميمه بسيار عامل متن، اساس بر«ترجمة جمله: 

  »بود. ... گرايانه طبيعت

  »اقتصادي ركوديك «

 )مطلب  درك(

----------------------------------------------  

  )روش ديعقيل محم(  »3«گزينة  -63
  »... . جز به ؛دادند نشان علاقه زير موارد تمام به گرا واقع نويسندگان«ترجمة جمله: 

  »زندگي سازي آل ايده«

 )مطلب  درك(

----------------------------------------------  

  )روش عقيل محمدي(  »1«گزينة  -64
 رهاشــا معـدن  يهــا كمـپ  بــه »2«پـاراگراف   در نويســنده چـرا «ترجمـة جملــه:  

  »؟كند مي

  ».است شده مطرح گرا واقع نويسندگان توسط كه موضوعي از اي نمونه عنوان به«

 )مطلب  درك(

----------------------------------------------  

  )روش عقيل محمدي(  »4«گزينة  -65

توسـط مـتن   تئـودور درايـزر    مـورد  در زيـر  عبـارات  از يـك  كدام«ترجمة جمله: 

  »شود؟ ميپشتيباني 

  .»ادبي هنرمند يك تا ديد مي اجتماعي مفسر يك عنوان به بيشتر را خود او«

 )مطلب  درك(

----------------------------------------------  

  )آرمين رحماني(  »  4« ةزينگ -66

  » كند؟ ميصحبت  بارة چه چيزيدر متن عمدتاً«جمله:  ةترجم

  »كنند. يمسازي  پرندگان با يكديگر لانههاي  چرا برخي از گونه«

 )مطلب  درك(

----------------------------------------------  

  )آرمين رحماني(  »  4« ةگزين -67

  »د.نمان مييي در برف گرم ها در زمستان با كندن تونل ها تارميگان«جمله:  ةترجم

 )مطلب  درك(

----------------------------------------------  

 )آرمين رحماني(  »  3« ةگزين -68

اي از  را بـه عنـوان نمونـه    هـا  چكـاوك  ،»1«نويسنده در پاراگراف «جمله:  ةجمتر

  »كند. ميذكر  ،كنند ميسازي  لانهبا هم يي كه براي گرم شدن ها پرنده

 )مطلب  درك(

----------------------------------------------  

  )آرمين رحماني(  »  3« ةگزين -69
ــ ــه ةترجم ــة « :جمل ــذا  ”forage“كلم ــال غ ــتن)  (دنب ــاراگراف گش  »2«در پ

  »خوردن) دارد. (غذا ”feed“ترين معنا را به  نزديك

 )مطلب  درك(

----------------------------------------------  

  )آرمين رحماني(  »  2« ةگزين -70
 هـاي  هكوچـك و دليج ـ  هـاي  هيك از موارد زير دربارة دليج ـ كدام«جمله:  ةترجم 

  »باشد؟ ميمعمولي صحيح 

 نـه  درحالي كـه دليجـة معمـولي    ،دخور ميچك به صورت گروهي غذا دليجة كو«

  .»]خورد ميتنهايي غذا  به[

 )مطلب  درك(

----------------------------------------------  
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